Prozente der Dezimalstellen berechnen

Name: Datum: Ergebnis:
2,74 x90% = 4,13 x30% =
3,74 x 10% = 5,74 x 50% =
0, 12 x 50% = 1,1 x80% =
7,85 x30% = 0,57 x 80% =
3,98 x 50% = 1,72 % 50% =
5,92 x20% = 6,49 x 20% =
8,25 x 80% = 9,18 x 50% =
4,64 x 30% = 1,23 x20% =
1,93 x40% = 6, 19 x 40% =
5,33 x 80% = 4,1 x40% =
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2,74 x90% = 2.466

3,74 x10% = 0.374

0, 12 x 50% = 0.06

7,85 x30% = 2.355

3,98 x50% = 1.99

5,92 x20% = 1.184

8,25 % 80% = 6.6

4,64 x30% = 1.392

1,93 x40% = 0.772

5,33 x 80% = 4.264

Datum: Ergebnis:

4,13 x30% = 1.239

5,74 x50% = 2.87

1,1 x80% = 0.88

0,57 x 80% = 0.456

1,72 x 50% = 0.86

6,49 x 20% = 1.298

9, 18 x 50% = 4.59

1,23 x20% = 0.246

6, 19 x40% = 2.476

4,1 x40% = 1.64
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